CURVATURE

We consider the Riemannian curvature tensor in spherical coordinates. That is we evaluate this rank

four tensor in three dimensions.
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Each index runs over three values.
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Again,

RaBW - gauRMBW =0
ROCBW = RwaB =0

The above relations are true for all three dimensional coordinates. But for spherical coordinates,

RYOWB =0
Ryaﬁv =0

In view of the above it may be concluded that the Riemannian Christoffel curvature tensor has all its

components zero if considered in the spherical coordinates.

Now if | have a sphere | find the Riemannian tensor zero at all points on it!



